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101|R#A7 L 923 159 764 Kg |EE 1,404 162| L 1,944 216
102|357 L 1,166 1,166 Kg BIE 1,593 555
111|&EEF £ 168 1 167 Kg |&)I 108 BERE 1,944 216
113|RAV S 69 2 67| Kg |EE 1,080 702| £l 1,512 918
114|B5EFE 162 162| Kg BRE - &E 2,970 324
15[ 1= 7 3 4| Kg |EE 2,376 1,510| 5 3,025 3,024
117[1E 335 112 223| Kg |EE 2,484 540|fEfE 3,780 432
21| bl E 61 25 36| Kg |EE 810 379|fE 864 540
134[#= = 391 150 241 Kg |EE 2,600 1,400| & 2,592 1,620
137|&5E.3. < 11 9 2| Keg |BE 216 K5 3,726
140(5 I 8 8| Kg FE 43,200 18,360
147|EZ O 50 50 Kg |EE 15,122 il 14,000 7,000
158|&FEN A IEH 176 176 Kg R 2,484 1,944
201{Lvb L 1,138 1,138 Kg BER - RIF 540 162
203|/hd L 526 4 522| Kg |EE 270 1R 540 243
206| = 1F 732 732| Kg I35 1,944 330
208| Mo % 602 602| Kg T 2,052 702
210{1F AL 272 100 172| Kg |EI& 2,970 1,485(1i0) 4,860 2,079
212|&5E.3 Y 207 207|  Kg =40 2,981 1,728
251|< %<3 451 451 Ke |#18 2,808 1,415
252| VA EECH 70 70 Kg |7 2,160
254|E b ECH 651 651| Kg =l 2,268 1,166
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303[A 27z 6 6] Kg B 972
315|7:b5 6 5 5 Kg = I 3,240

3191 h o 253 253 Kg - REB 1,404 710
332|117 WA EF 199 199 Kg i 2,160 1,242
3BlHHY 34 34 Kg |ZEE 2,916 2,376

3541 <Y 49 491 Kg = 3,240 864
3/5|HEY 134 10 124 Kg [|diEE 1,080 =% HE 2,808 600
356|L L& 65 65 Kg SER 1,512 432
3577~ E 1 1 Kg FEE 10,260

358| KE 10 10| Kg A0 4,536

362(m & 34 34 Kg JtimE 8,640 864
401|H W 46 46 Kg Iz & 2,160 1,944
4025 E 15 15| Kg FAN 5,616 5,508
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7R R (ke) w05z FHRIER
B il HLAVE
AH w05E | AR TE ity FET) | fE) | ZefEi) FE FHE(T) | PG | 2D

RGBT AV 959 959 Kg 73 3,942 1,080
ARUEAT 21 21l Kg aalEs 1,728 1,560
Gl 289 289 Kg F 1,296 702
MR Z 413 413] Kg tiEE - ma 2,650 1,067
RS S 125 125| Kg F 1,250
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4, 7 H R (kg) o o5 FRAXIER |
S s — — i AL — — — —
AH #h5e FRIELS | FEHH =B () ) | e FEHH mfE () EE) | ZfE(M)

70110 BA 1,041 309 731 Kg |&&E 4,752 3,966 | = 5,400 756
709|Lb LALF 6 6 Kg FE 945
BlBEFALANIN 43 43 Kg |B1R 822 797
755(Fd L 422 4221 Kg E=AES 1,274 513
76l|1b Y AEE 22 22| Kg FJE 3,115 2,520
76713725 WD 45 451 Kg EE 2,268 1,980
801 [3BAT = 1S 221 221 Kg bEE - mA 3,240 1,134
802|111 176 176] Kg 2Dzl 1,836 1,404
805 = 1E 999 999 Kg bF 1,274 605
807 [1BHDF 5 5 Kg blo ] 4,104
810|FAKF 270 2701 Kg bF 2,638 1,674
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